(a) mmﬂ:duhumm.m&'wmm AEP, for the reaction at
25°C. Be sure to show your work.

_ Os(8) | NO() | NOsg)
Standard enthalpy of .
formation, A, at25°C | 143 | % B
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(b) Mlmﬁwpﬂdmmumﬂmﬂﬂmm&mqm h?.f:'ct;nmdnnl
25°C, Justify your answer.

(c) On the basis of your answers to parts (2) nﬂ{b],phﬂﬂﬂ!ﬁﬂﬂfﬂﬁwﬁww AGR,
for the reaction at 25°C. Explain your reasoping. '

(d) Unﬂeinfmgﬁmhﬂtﬂhhhhwtﬁwﬂuhmhwmﬁmhﬂumﬁﬂﬂnﬂﬁnhwm

Initial Rate of
Experiment | Initial [Oy] Initial [NO] | Formation of NO;
Number | (mgl 1) (maol L) (mol L~ 1)
1 0.0010 0.0010 x
2 0.0010 0.0020 o
3 0.0020 0.0010 P
4 0.0020 0.0020 dx
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Stepl:  0y+NO — 0+NOQ,
Sepll: 0+0y =20,
Sepll: NO,+NO = 2INO, .

e

=(33+ 0) - ( M3 +90)=_|-200 kJ/mol
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GO ON TO THE NEXT PAGE



